Quiz 1

ID number Name 1 3 Score
9921110 FR{G1E 6 6 2 14
9921108 EREETF 10 10 10 30
9921114 Y=l 2 6 2 10
9921120 =1 2 10 0 12
9921224 EEE 10 0 0 10
9921271 R 10 10 0 20
100020033 MFEE (C) 10 10 10 30
100021108 FRARES 10 8 0 18
100021111 EEE 10 10 10 30
100021112 2= 2 2 0 4
100021121 TEH 10 10 8 28
100021123 T 8 0 0 8
100021125 EE 2 2 0 4
100021126 ZE4E (C) 10 2 10 22
100021131 BIkE 10 8 0 18
100021171 FEX 9 10 0 19
100021202 R 10 10 10 30
100021207 Ei=1173 0 0 0 0
100071021 11655 (C) 10 10 10 30
1010211101 | E=ZHE 0 0 0 0
101021102 FH{8E 1 0 0 1
101021103 A& 2 9 10 21
101021105 WIS 0 0 0 0
101021106 BIEH (O 10 8 0 18
101021107 221G 0 0 0 0
101021108 Es eSS 6 0 6 12
101021109 M B 10 8 10 28
101021110 MSE (O 5 10 10 25
101021111 =t 10 10 10 30
101021114 == 0 10 10 20
101021115 B 10 6 2 18
101021116 = 10 8 10 28




101021118 RE 10 8 10 28
101021119 WA 5% 8 8 0 16
101021122 BT 10 10 0 20
101021123 SRR 10 0 0 10
101021124 IEiREE 10 10 8 28
101021126 I(E 10 6 6 22
101021127 SerE L 10 10 10 30
101021129 B 10 10 10 30
1010211131 | Z5{EdEg 0 0 0 0
101021132 PRI 0 10 0 10
101021208 PESE (C) 10 8 10 28
101021221 BT 5 9 10 24
1010211612 | %k 0 0 0 0
x1032011 =8 10 10 10 30
BE
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1. E—EBNREAINEFBN sinn IXERAR4E2 7

2. BREWRZHE N D 13 sum BEIZRBIESEER/NERI—EN2 5

3. E=REUIR G BEREI EEBMBAMVERTFRHARLSL s 7, SEBSHE —HR4G6 5,
MRABEMBERERARLGE D
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